Mig htyMOU nt STRONGARMNhealthcare

. . . Visit strongarmhealthcare.com to view our installation video.
Quick Start Installation Guide g
A

What's Included B
A) 1/4" Hex Key E
B) (4) Display Thumb Screws (M4 x 8) 1 1
C) (4) Display Thumb Screws (M4 x 12)

D) Track cover d
Tools You'll Need - B
« #1 Phillips screwdriver L

« Wire Cutter & Tie Wraps (for securing
keyboard and mouse cabling: see Step 4 for

instructions on accessing prewired USB hub) 1. Install Mounting Track* 2. Install Onto Track

3. Level and Tighten

* Refer to track installation instructions Use 1/4" Hex Key to Tighten Four Slider Key Bolts

=
4. USB Hub Access 5. Install Display 6. Run Cables and Install 7. Install Track Cable Cover
1) Turn latch on rear of keyboard enclosure to Using (4) M4 x 8 Display Thumb Screws, attach Cable Guard Cut supplied track cover to desired length(s) and
release cover. Pull cover forward to access the display to MightyMount. (NOTE: If the M4 x 8 Display Display cables can be secured to the neck with a slide into track channels as shown
USB hub. Thumb Screws can't be threaded sufficiently to provide a secure . .
tie wrap fed through the provided holes

attachment, use the M4 x 12 Display Thumb Screws instead.)



Mig htyMOU nt STRONGARMhealthcare

* . Visit strongarmhealthcare.com to view our complete operations video.
Operation Guide

LOCK UNLOCK

r_\
| Vertical Lock |

Vertical Lock

Vertical Adjustment Mounting Rotation Display/Keyboard Rotation Display Tilt

PatientView* Display Rotation Pull Out Keyboard Tray Slide Out Mouse Tray (optional) Fold-up Keyboard

(*On PatientView equipped models)

© 2017 STRONGARM Healthcare « 425 Caredean Drive, Horsham, PA 19044 - 215-443-3400 - FAX 215-443-3002 - www.strongarmhealthcare.com



